{F
OF
M
A

o}
D

150
<+




=10

H

RD

<+

S

)

ol

L=

2018

Uy eraetm

bl

= B 49

e

=

=

- =

lallblcosd

. (45%)

<HIAI 2>

KIr

NSZ a+ b2t 20| LIEFHTE.

b,

1o

L& Ol et

- =
lallblcosd

aeb

—

i

)l
X0

<r
0

g m,

(b1, by, by)

b

((11 s Aoy ag),

a=

ae* b= albl + a2b2 + a3b3

oy
]
o

-

il

oll

At A Dt

o

5
U
u

&

tO4

O
s(t)et SHXF.

tH

)

pS|
o
=

= A
= Ofl
0I5

=
=
=

OICH) (15

S
t(o<t<2)0

01010|
S

2|

o
— o

iy

BOUIA gy
o

AL
e

0
=

AL

B2t ©
m+k>a(a=2,3,4, -
, =22 SM

a> 00/,

t+a
832
(T,

= 10+43

Ol a2 2t2 FSHAI2.(H,
Xpoi2}

2
1/9

—

[a—

z
b4 f'(x) > 00ICt.

| f(z)—g(x)| dx

EH SF
=

[—

[—

0

—_—

b
BO « BB’

BA
[¢]

2t
EH_

[a, b]OIIA HZ012H O R22HOIA £ (z)
U Ay

SUHA 2EHES
el AL (m,k)S

F

2
[

F

o
il

pS|

S

r=02 ScIMe! EE2 0l
L

A, ={(m, k)lm+Ek=n, m, k
A= A,UA;UAU -
BZA—{(m,k)EA20|m >k}

flx)oF 2
AZICH.

a,
L=
BOIA

3

—

F

(u]
[ul

(u]
=

T
B'et & M,

X| St
=

;

=2

=

9|
3]

Al

[
[—

[



My e=tistm 20188HEH T SAI2E =2 DA X} o1 | <

[ER2] OS MAI2S A1 220 EotAl2. (55F)

<HI Al 2>
() =&0l F(p, 0)0|D =H0| z=—p0 Z2HO YUHA
y’ =4dpz (p=0)
011, IS ¢? =429 DeHZ= S D2 20
FH Y
A
> T
-1 F(1,0) =4
(Lh) &2 f(2)IF z2=alllA DI2IISE M, B4 y=/f(z) 92 & (a, fla)IA &2 LHAS
y—fla)=f'(a)(z—a)
ol], 880 =2 &2 sl 0|1F= 22 act & M
f'(a) = tana
0l Ct.
(CH) &2 y=tanzes OF2HQ 22 H&& 2t=C.
(1) tan(a+ﬁ)zw, =¥] tan(2a)—2t37na
l1—tanatanf 1— tan’a
(2) tanz= FIIJb 70 FI|&H20ICH
(3) /tanxdas: —Inlcoszl+ C (B, = E24a%)
(2h) &2 f(z), g(z)Jt DIZIISE I C+E0l H&IEHCH
(1) (X2 ]
[ r@riz= [ rg@)g Wat
(2) [ReEmedy]
/f(a:)g'(x)dx—f(x)g(x)—/f'(z)g(:v)d:v
(=M 1] Z28 =42 212 B Ale, b)UHAL HEH0|l 2= s B2 B, &1 s E#S C
2t 5tX. AB=BCY M, AS XMEEZ J6HAIR. (B, b>0) (158)
(=M 2] Z2H > =4z 212 & DUAS &0 =0 29| 250 0|2= 2+9| JI|Jt 43° 2t GtAt.
ES2Ho =& F & DE KNl A0 52 &9 gtskl 0|F= 242 IJIE FotA2.

(15&)

2/9




Yy =2 st 20188HEH T AA|DE ==DA}

[=R 3] &z z(z=0)0 TH3IOI 0< f'(xz) <1012 £'(0)=09Q &= f(xz)It AUCH.

Al a(0<a < %)on ot 246 y=f(z) 212 & Ala, fla) A BE mD B AS X
Lhe & ®A ¢, 6= 1S XA QIEAI2ICH

(i) ¢,2 J12717} 1 0IC}.
(ii) mt ¢,0 0|2= 2t 3

(ii1) 6,01 5D s B2 B0, 0), £, 25D D= B2 Cle, 0)2+ & M
BC

2f(a)

1—tan (sina)

JI2 mit ¢,0F OIF= 22 D0t M2 2L,

(S, b<a<e)

™

Ol [y /Qf(x)sinxda:% FOIAI (H, f(0)=0) (25&)
0

3/9



